a(d cot(B))

=
S
N
T IIIIIIII
——
—

i A

=
S
w
T T IIIIIII
s -
N
-
o

I 2 3 &2 1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o

—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_something3

Xy
z

ooa )(cm)
o(d d.) (cm)

107
]_0_2: 1# ' |-
F ; I 107E

Tl | T
i 11|+ Bl i) 6 o b LULEILL T 0TI
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

332 -1 0 1 2 3
TP n (PCA to beamline)

0.8L



	Contents
	Page 1


